Al & Ol & AF S Al A
T =3 13 LetsiA
Faloh=: Falgeamly
AH2SZHI (M2 D)
Jl=2dhl cheo el
2A -3 - 22A(2) - NRAY - BYES Off &4 N3N HwS2
7,009,553 3,923,553 3,086,000
= 3,820,000 2,900,000 920,000
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201 2erEg 18,800 7,800 11,000
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201 2Er2g] 21,643 17,643 4,000
01 AtR2reltl 19,930 15,930 4,000
g2t 4,000 0 4,000
2)8YE MMEFMNSY HIHZE 5,000 =800 4,000 0 4,000
307 212HolA 50,000 0 50,000
02 giZtAaeEx 50,000 0 50,000
NELSN HEE =HIIA(1BHSH) 50,000,000& 50,000 0 50,000
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01 glti=8L 0 30,000 230,000
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401 AlZHIZL SO = 1,950,000 0 1,950,000
02 AAIEHAHbI 74,700 0 74,700
NELY MXNSEHeIE A= 74,700,000 74,700 0 74,700
[ 74,700 0 74,700
03 EXIoHH 400,000 0 400,000
NELE MXNSEHeE A= 400,000,000 400,000 0 400,000
< 400,000 0 400,000
04 Al 1,463,200 0 1,463,200
NELY MXNEEHIE A= 1,463,200,000& 1,463,200 0 1,463,200
[ 1,463,200 0 1,463,200
NELY MXNEEHeE AF(HRRE A 2,250,000,0002 ) 0 0 0
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= 300,000 0 300,000
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201 Let23d] 982,000 412,000 570,000
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01 AFR2I| 782,000 362,000 430,000
g2t 450,000 350,000 100,000
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s 10,000 0 10,000
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Fas 30,000 0 30,000
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Fas 0 100,000 100,000
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NEYE IHEs L ALMEXY IHE 23 80,000,000& 80,000 50,000 30,000
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s 20,000 10,000 10,000
nNEggas 100,000, 000& 100,000 0 100,000
s 100,000 0 100,000
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= 20,000 0 20,000
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= 200,000 0 200,000
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= 50,000 0 50,000
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P 0 40,000 A40,000
NHUNE S22 st ASH(L2HE, MM 28 o2 0 120,000 120,000
= 0 120,000 120,000




2H:E

X XH -
o=

e

SN BB ER(B) - MBAY - B S Ol &t p[E-F" RS2
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